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MODEL TEST FORYIENGLISH MAJORS
—GRADE EIGHT—

TEST 1
PAPER ONE

(Time Limit :110 mins. )

PART 1I.LISTENING COMPREHENSION (30 mins. )

In Sections A,B.C you will hear everything ONCE ONLY. Lis-
ten carefully and then answer the questions that follow. Mark the
correct response for each questzon in your ANSWER BOOKLET.
SECTION A. TALK

Questions 1 to 5 refer to the talk in this section. At the end of the
talk you will be given ONE minute to answer the following ques-
tions. Now listen to the talk.

1. The number of people suffering from TB is

A. 2 billion B. 2 million
C. 20 billion D. 20 million

2. The increasing rate of the disease is highest in
A. Far East , B. South America
C. Central Africa D. South Asia

‘3. According to the speaker, TB bacteria is reststed in most peo-
ple by

A. drugs ) B. the normal immune system
C. good sanitation D. improved living standards
4. The cheapest drug to cure the disease costs _
A. 15 dollars B. 50 dollars
C. 14 dollars D. 40 dollars
5. WHO estimates that it will take at least years to e-

1




liminate the disease completely. .
AT ' B. 25 i
C. 35 ; D. 50

SECTION B. CONVERSATION

Questions 6 to 10 are based on a conversation. At the end of the
conversation , you will be given ONE minute to answer the follow-
ing questions. Now listen to the conversation.

6. What do the workers believe they need at the moment?

AL A strike. B. A discussion.

(. A meeting. D. A straight talk.
7. What happened a couple of months >ago?

A. A merger. B.An accider\it.

C. A change in products.
D. A great reduction in the number of workers.
8. The workers are dissatisfied with all the following except the

A. gateman B. production target
C. overtime problem D. tea-break
9. Why was Pete late for work yesterday?
A. He got up late. B. His wife was ill.
C. His son was ill. D. He was ill himself.
10. What did some workers use to do in their dinner-breaks?
. A. Had a bath. B. Talked with other workers.
C. Had a rest. D. Made some small devices.

SECTION C. NEWS BROADCAST'
Questions 11 to I5 are based on the following news. At the end of
the news items you will be given ONE minute to answer the ques-
tions. Now listen to the news.
11. What’s the shuttle’s trouble?

A. It lost part of its tail.

B. It lost some of its tiles

C. It lost part of its wings

2



D). Tt had too much flame. ‘
12. The shuttle costs nearly dollars.

A. 10 billion B. 10 million
(". 100 million . D. 100 billi‘on

13. Many people believe that Gates and McCaw's plan was

A. possible B. impossible
C. ridiculous D. amusing
14. The price of petroleum is _as much as that in 1973.
A. 3 times ! B. 4 times
C. 5 times "D. 6 times
15. When are there likely to be thunderstorms?
A. Today. B. Tonight.
C. Tomorrow. D. No infcrmation.

SECTION D. NOTE-TAKING AND GAP-FILLING

In this section you will hear a mini-lecture. You will hear the
lecture ONCE ON LY . While listening to the lecture , take notes on
- the important points. You will need the information to complete a
gap-filling task after PART 1. PROOFREADING AND ER-
ROR CORRECTION.

SECTION D.NOTE-TAKING AND GAP-FILLING (20 mins. )
.Fill in each of the gaps with ONE suitable word.You may refer to
your notes. Make sure the word you fill in is both grammatically
and semantically acceptable. .

- The Secrets of Sleep ' ~

The secrets of sleep were a mystery for
centuries because there was neither means nor 1
@P)

to explore them. Only when man became able to convert
night into day,did people beginto wonder if sleep




coula bea 2 of time. A research project in (2)

3 has discovered a few people actually (3)

4 insomnia. Chronic insominiacs often get hours
€3]

5 sleep than they think. (5)

A lot of research work has shown that too much
sleepis 6 for you . The real advance in sleep  (6)
research came in 1937 with the useof the 7 . (7)
This machine showed small 8 in the brain . Then,

' (8)
some scientists looked at the 9  movements, (9
and noticed that after about 10 minutes there (10)
would be a burst of the EEG. During that period,
people were 11 an

When we fall asleep,we pass through a 12 of (12)
sleep stages . The 12 lasts about 10 minutes
during which you pass 13 stages. From it you (13)
retreat to stage 14 , and from there into (14)
" REM,or rapid eye movement sleep.

- Studies of people locked up for 15 in 1s»
an observation chamber have shown that even

though the 16 of sleep continue ,the day (16>
is extended to 17  hours. These people go an
to sleep some time 18 than usual each (18)
day. After about ten days,they are going to (19
sleep at 19 o’clock in the 20 20)

PART I.PROOFREADING AND ERﬁOR CORRECTION (20

mins. )

The following passage contains seventeen errors. Each line con-
tains a maximum of one error,and three are free from error. In
each case only one word is involved . You should - proofread the

passage and correct it in the following way;
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For a wrong word, underline the wrong word and write the cor-
rect one in the blank provided at the end of
the line.

For a missing word, mark the position of the missing word with
a “ A ”sign and write the word you believe
to be missing in the blank provided at the
end of the line..

For an unnecessary word, cross out the unnecessary word with a
slash “/” and put the word in the
blank provided at the end of the line.

If the line is correct, place a tick “\/” in the blanlg“prowded at

the end of the line. ’ r,-f‘

EXAMPLE
It is impossible A any sentence in one

“

language to have exactly * 1) for
the same meaning as any sigle sentence
in another language. It is also (2)single
impossible for any sentence in a particular
language to have exactly 3_ Vv
the same meaning as.the other sentence ip’ .
that same language. ' (4) any
The telephone system is a circuit-switched network.
(1)For much of the history of the system;when you
placed a call, ‘ §))
(2)you.were renting a pair of copper wires that run.
continuously : €2
(3)from your telephone to the other party’s phone.
Yoiur had 3)
(Dexcluding use of those wires during the call
: when you hung up, ~ “4)
(5)they were rented to someone else. Today the
' transaction is more than (5)




(6)complicated (your call may well possess a

fiber-optic cable or (6)
(7)a satellite with hundreds of other calls ) ,but
more conceptually the ¢))
(8)system still works the same way. When you dial
the phone,you get (8
(9)a private connection to one other party. This T
is an alternative ‘ €))
(10)network architecture called packet switching,
in which all stations (10)
(11)are always connected to the network,but they
receive the ' (1
(12)messages addressed to them . It is as if your
_telephone was (12)
(13)always turned in to thousands of
conversations going by on the (13),
(14)wire,but you heard only the occasion
word intended for you. - (14)
(15)Mostly computer networks employ
packet switching,because it is (15)
(16)more efficient than the circuit , ‘
sWitching when traffic is heavy. . (16)
(171t seems reasonable the existing
packet-switched network . an
(18)will grow on, and new ones may be
created sthey could well absorb . (18)
(19)traffic that would otherwise go to ‘
the telephone and thereby a9
(20jreduce the need for telephone .
numbers. ' (20)

PART Hl.READiNG COMPREHENSION (40 mins. )
SECTION A.READING COMPREHENSION (30 mins. )

In this section there are five reading passages [followed by
6




twenty multiple—choz'cé questions. Read the passages and then mark
your answers in your ANSWER BOOKLET.
Text A )

It was unfortunate that, after so trouble-free an arrival, he
should stumble in the dark as he was rising and severely twist his
ankle on a piece of rock. After the first shock the pain became
bearable, and he gathered up his parachute before limping into
the trees to hide it as best he could. The hardness of the ground
and the deep darkness made it almost impossible to do this effi-
ciently. The pine needles lay several inches deep, so he simply
piled them on top of the parachute,cutting the short twigs that
he could feel around his legs, and spreading 'th.em on top of the
parachute, cutting the short twigs that he could feel around his
legs, and spreading them on top of the needles. He had great
doubts about whether it would stay buried, but thers was very
little else that he could do about it.

After limping for some,,'dist'ance in an indirect course away
from his parachute he began to make his way downhill through
the trees. He had to find out where he was, and then decide what
to do next. But walking downhill on a rapidly swelling ankle soon
proved to be almost beyond his powers. He moved more and more
slowly, walking in long_sideways movements across the slope,
which meant taking more steps but less painful ones. By the time
he cleared the trees and reached the valley, day was breaking.
Mist hung in soft sheets across the fields. Small cottages and
farm buildings grouped like slecping cattle around a village
church, whose pointed tower pointed high into the cold winter air
to welcome the morning. ‘

“Ican’t gomuch farther 7, John Harding thought . “Someone
is bound to find me,but what can I do? I must get a rest befote I
go on. They’ll look for me first up there on the mountain where
the plane crashed. I bet they’re out looking for it already and
they’re bound to find the chute in the end. I ¢an’t believe they
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